
S
PA

R
E

 P
A

R
T

S
 K

E
Y

B
O

A
R

D
 S

TA
N

D
S

18962.000.55 black

SK
18962

18962 Keyboard Stand

-6/05-

1

10
11

13

14

15
16

17

12

12

18

2

3

4
5

6

7
8

9

pos. description art.-no. qty

1 non-skid rubber end-cap 01.94.770.55 3
2 washer ø6,4 mm 01.49.020.15 1
3 carriage bolt M6 x 70 mm 03.07.370.25 1
4 curved brace 01.21.835.55 1
5 washer ø6,2 mm 03.11.824.55 1
6 carriage bolt M6 x 50 mm 03.07.350.29 1
7 carriage bolt M6 x 15 mm 03.07.310.01 1
8 washer ø8,2 mm 01.41.020.01 1
9 equalizing non-skid rubber end-cap 01.84.778.55 1

10 plastic bolt cap 03.20.410.55 3
11 locking nut M6 03.08.340.29 3
12 washer ø6,4 mm 01.43.525.01 2
13 locking knob M6 01.81.715.55 1
14 wrench SW 10 / SW 13 01.18.922.01 1
15 straight brace 01.21.825.55 1
16 stacher insert cap 03.20.680.55 4
17 non-skid rubber covering 01.94.775.55 4
18 carriage bolt M6 x 45 mm 03.07.345.29 1


